SH 3 FENRAEE (FiH7) BAAEATSEESEES
g AH3E4A18 = SM349H308 M=
INASIE T B 3] = XHEIE & %8 ] £
' (D55LFERETFS]
BE 1,500,000 = 1,500,000
(D35 4EHEITE]
RIEREMS 356,067 SHEBHS 437,845
(A3ER)
FIF 2 R EERE 14,196
= AT ERAE 234,600 _|smRea 16,498
HEmH#EEE 21,000 NiRas 45,000
IREAER 8,130
=18\ (B 90,000
e 611,669 Isza 611,669
DAEBETES)
AIERES 1,189,437 SH@HS 1,137,818
(AER)
BEFIE 5 HAERRE 5,588
basmns 15,345
BSEARNE 30,601
e HERE 0
EARE 0
N Bt 1,189,442 N B 1,189,442
& &t 3.301,111 S & 3,301,111
W35 BE ¥1,500,000
D354 SHRRS ¥437,845
A SHEEHS ¥1,137,818
RE ¥0
ESEEE

LREEEORR, S TERCUEINTV 3B 20T,

D02 £ ¥ B 2¢H

SHEE 101§ 26




